a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

T I T T T

r Y

10

I = 3
Sum of track p_ (Ge\}P

G(0 X) (um)

Ratio

1

a(0 x) tor merged vertices (um)

Ratio

M_MRFT_baseline
éM mKkFit_baseline6iter

10?2

L L

10BEL L

M™mKkFit"TT_RetrainV2

................

10? 3

10

A H Il H I ,
égm of track p_ (Ge\})0

a(oy) (um) |

Ratio

0(0 z) (M)

Ratio

WP1 6iter_ep3

10?

10

i

2
1 10Sum of trac]kop (GeV)
T

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10°

10?

1.2

0.8k

Il HHH ,
ét?m of track p_ (Ge\})O

i

o 2
Sunl100f track p_ (Ge\;‘)O



	Contents
	Page 1


